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1. Lack of atmosphere

around the

Moon .is due to.

{&) low escape velocity of air
molecuyle and low gravitational
attraction

© (b) high eéscape .velocity of air
molecule and low gravitational
attraction

{¢) low gravitational attraction
only

{d} high escape velocity of air
molecule only

2. Which one among the following
correctly definés a unit magnetic
pole in SI units?

It is the pole which when placed in
air at a distance of

fa) 1 foot from an equal and a
similar pole repels it with a
force of 1 pound:

(b) 1 metre from an equal and a
similar pole repels it with g
force of 1 newton

{c) -1 c¢m from an equal and
similar pole repels it with g
force of 1 dyne

M

(d) 1 metre from an equal and
similar pole repels it with. a
force of 1 newton/m 2

o)

O-DETA-M-HL/48A

3. After rising a short distance, the

smooth column of smoke from a
cigarette breaks Up into an
irregular and random pattern. In a
similar fashion, a stream of Tluid
flowing past’ an obstacle breaks up

into eddies and vortices which

give the flow irregular  velocity
components transverse to the flow
direction. Other examples include
the wakes left in water by moving
ships, the sound produced by
whistling and by wind instruments.
These e)iamples are the results of

(@) laminar flow of air
(b} streamline flow of air
{¢) turbulent flow of ajr

(d) viscous flow at low speed

4.. Two identical piano wires have same

fundamental frequency when kept
under the same tension. What will
happen if tension of one of the wires
is slightly increased and both
the wires are made to vibrate

*simultaneously?

(a) Noise

(b) Beats

fc) Resonance

(d) Non-linear effects
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fa) =17 3 H 7 gqET S g e
THETHRET

(b) 9T I F IF YAET I qur f
TReTRY T

(c) am v Tecaendor

(d) I TG 3 H I TAEA 97

2. fr=fafaa & @ S9-arws, S1gfet § w

TR T ya N T rE war 27
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3. Rz & fied y@ w1 onae wiom,

g g T I3 F =R, s Afghi| sk
agfeom faew & 72 s 31 s W,
T [ H TH W @ @ a9
FA F TR et o wftell A gz et &
R wE W, wE fam % o
Aaf| A wew TN F HEEC]
FRE #, TR W % g W § gh
e, @ W @ ohe amg @ g
Foad A §1 3 Sarew frass oo §7

o} ARG H = y&T
(b) I T YRG! YaTg
(c) AT 1 Yy vaTg

(d) 1 fd | v vaE

4. A FER faEt & ql A g el

TA 8, S 32 THE 9 § W@ ST 3
AR G At # ¥ & F T @ g
g o s ok W1 ol = wwEy
wird fran ww, @ F7m gm?

fa) TR
b)) e
{c) ¥gae

(d) 3iflas yvma
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5. What is the major role: of- a green- 7. Which of the following measures

house gas that contributes to

temperature rise; of the Earth’s

surface? 3

(a} -Transparent to both incoming
'sunlight and outgoing infrared
radiation

T
(b) Stops both incoming sunlight
and outgoing infrared.radiation

{c) Lets outgoing infrared
radiation pass through but
stops incoming sunlight

{d) Lets incoming sunlfght pass
through but stops outgoing
infrared radiation

6. Which of the following statements
is/are. correct?

1. If a country is experiencing
increase in its per capita GDP,
its GDP must necessarily be
growing.

2, I a countfy is experiencing
negative 'ihﬂation, its GDP
‘must be decreasing.

‘Select the correct answer using the
code given below :

Code :

¥ should be taken when an,economy

is going through inflationary

pressures?

1. The ‘direct ‘taxes should be
increased.

2. The interest rate should be
reduced.

3. The public. spending should be
increased.

Select the correct answer using the
code given below :

Code
fa) 1 only
(b} 2 only

{¢f/ 2and 3 °

(d) 1 and 2

8. The basis of European Union began

with the signing of
(a) Maastricht Treaty
(b)- ’I};eaty of Paris
(¢} Treaty of Rome

{d} Treaty of Lishon

9. National income ignores

{a) 1 only
(b) 2 only
(c/ Both 1 and 2

(d}) Neither 1 nor 2

O-DETA-M-HL/48A 4
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{a) sales of a firm
{b) salary of employees
fc) exports of the IT sector

{d) sale of land
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TGH | AR Wl R, e fe &, @ fafafan sudi 4 @ @-a/a
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@ SR i s A s L o 4 A ag a
fafereo, 21 & fow urom=r 2 2. =N-R T A =il
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(b) Tl g o Pmfd s
fafemor, 251 =t Jwelt B o fR W = W W = o Iw
EGLE
(c) Tt st fafeor =) ge
;AR R wliime @ K3
Tl (a). ¥ 1
(d) st g & g 9 @ 2 ) o
afee i sracer fafmor 5t dedt "
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(d) 132 |
6. Fefafas § & F-m/8 == wdt /%7
1. afe uh 3 = 3% wfy = GDP 8. U TY & UR H WY frg € w J
1 9fE #1 3pva & @ @, @ ' TSR F | gan?
GDP 3@+ ®Y ¥ 92 @ &hfty @) wiew R
2. A T I woTeHE iy = oerya . |
H @ &, & IWH GDP w @ (b) e <} wfy _
wi (c) mH !
ﬁﬁanﬁa@wmmaﬁm (d) o= Hafy
EGLE
He 9. W 3@ i Fwfafed & @ frmw
Hiefera 7t foma e 27 l
Fad
@ ' (@) T% B 5 foema !
|
) e 2 b) iR = |
() 1323 (c) TN MReNFER &5 & Frafa .
(@) FM13MId2 (@) = f
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10. What are G. "arboré)um,
G. herbaceum, G. hirsutum and
G. barb”a'ciér"iéé, whose all the four
species are cultivated in India?
(G = Gossypium)

{a) Species of wool;
{b) Species of cotton
fc) Species of silk

(d) Species of jute

11. The soil formed by wind dust in and
.around hot deserts is called

(a) silty soil
{b) loamy soil
fc) sandy soil

(d) loess soil

12, m'gicallyj what does a continually
rising air préssure indicate?

(a) Advent of unsettled and cloudy
weather

(b) Advent of a cyclone
() Fine and settled weather

(d) Fine and unsettled weather

13. The TEAM-9 initiative is a
techno-economic cooperation
venture- between India’ and eight
countries of

fa) West Africa
(b) East Africa
{c) North Africa

{d) Central Africa

O-DETA-M-HL/48A 6

14. Which one among the following is the
* ‘type of 'the: Comoros Islands which
lie in the Indian Ocean between
Northern Madagascar and the
African- Coast?

fa) Volcanic
(b} Glacial eroded
{¢) Eolian deposited

{d) Folded

15. Which among the following
conditions are necessary for the
issue of writ of quo warranto?.

1. The office must be public and
must be created by a Statute or
by the Constitution itself.

2. The office 'must 'be a sub-
stantive one and not merely
the function or employment of
a servant at’the will and during
the pleasure of another.

3. There has been a contraven-
tion of. the Constitution or a

Statute or Statutory Instrument,

in appointing such person to
that office.

Select the correct answer:using the
code given below :

Code ;

(a} 1 and 2 only
(b} 1 and 3 only
f¢) 2 and 3 only

(d) 1,2 and 3

StudentSuvidha.in

ICI LT L o) el W -



http://studentsuvidha.in/
http://studentsuvidha.in/

10. So Eifgm, o wfeem, o fegen

3t oo Frdeo—Trweht 3 aw wfaf €,

14. Frffian § @ Pe-a w Fda G

9 TR B, W fe= memrnm #, SO

St wft w7 Il s £ (e = e 3 hid a2 & S fea 87
) |
i (a} A i faat @
PRp—— (b) Teadim sofem
(c) tm & wfwt (c) aTIFa Fafda
(d) S R St (d) afera

11, ™ Yl & qon 3T 9w S vEd ge @ i5. ‘of R B o % R

mm_ﬁwaﬁmwma? Frafafas cmstt § ¥ S¥R-9 sTEEE
(a} 9T AT 87
(b) T T 1. HEEE AEEE 4§ T B
T1fee 3t @ ww ofafyr g ermEn
(@ T i wfaaw g ghm g =R
(d) e 2, FHEEY AEES 4 A qF wRe™
B =R R @ ol @ ey
12. Tehd:, TOIAR g §oN 9 T el & i =i = e @1 fees
Tehd HT 87 A frefl gt < g=1 W A IWH
(o) ATRR iR Tursza fEw 1 3 ST T B

3. wwlem § W =t ¥ feew §

(b) EFHAT & HIHA e e G o TR

(c) Ir=a1 i TR daw forEa #1 IgEA g W@ B
() 30T 3 R W R S Rt S R g
EELE
13. TEAM-9 3IfSFq, WG 3 F& & 18
W & fiw, ww Nefiw-anfds agm T2
?
Rl {a) <had 1 3R 2
(o) ufendt s
Faer 1 3R 3
(b) T ITheET ()
(d) TEI STHIH (d) 1, 233
O-DETA-M-HL/48A 7 [P.T.O.
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16. Which one among the following is a
fundamental duty of citizens under
the"Constitution of India?

aj To provide friendly cooperation

(b)

(c)

(d)

to the people of the
neighbouring' countries

To protect monuments of
national importance

To defend the country and
render national service when
called upon to do so

‘To know more and more about

the history of India

17. Which one -among the following
statements. is correct?

(a)

(b}

(c}

(d)

Due ‘to

border problems,
India’s trade with China did
not register- a- quantum jump
between the years 2001-2010

The stand-off between India
and China on Pakistan and
Arunachal Pradesh did not let
India’s trade to grow with
China in the years 2001-2010,
as much as it-grew in the years'
1991-2001

While India-China trade has
registered a quantum jump
between the years 2001-2010,
both the- countries have
ensured parity of trade

In spite of border problems,
India’s trade with China

registered a quantum jump

during the.years 2001-2010

O-DETA-M-HL/48A

18, Which one among the following
statements about .globalization is
not correct?

(a)

(b)

(c)

(d)

Advocates of globalization
argue that it will result in
greater economic growth

Critics of globalization argue
that it will result in greater
economic disparity

Advocates of globalization
argue that'i it will result in
cultural homogenization

Critics of globalization argue
that it will result in cultural
homogenization

19, The best colours for a Sun umbrella
will be

(a}

(b

(c)

(d)

black on top and red on inside

black on top and white on
inside

red on top and black on inside

white on top and black on
inside
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R T (a) Twsmie & vemuds T3 o 3
| & 15 78 ampa st sl afy
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17. ﬁmﬁmmﬁﬁ@aﬁq—mﬁuﬂ%?

(@) 2001 & 2010 ¥ frw < ¥ (d) ?"Eﬂw = Wﬁ‘sﬁég
Wmm'a;wﬁ,mm-ma; ngm
PRI, FHEA IDTe &t e s R

(b) TIFETH 3N IO T2 W 9
3 A & i wade ¥ o 2001 @
2010 % 9 7 & @ wwa %
RAMR F I -7 T B R 19. 49 gl % R S-a1 o1 getam 2y
5 @& = 1901 @ 2001 % 9
T o1

() TR Fe 3R = A A

(c) af% sma-dH = 3 9§ 2001
® 2010 ¥ % v WO Fore =
oot B, A I Y wr
T Y o o &

(b) IV Fra 3R o< § whe

(c) IWA A R 3= & Fre

(d) dr-gmen ¥ wwEsE, 9w % Gy
W % MR A a€ 2001 § 2010
% 4RI T ST 39T oo ) 2 (d) T T%e 3 3T § F7en
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20. Before X-ray examination” (coidﬁgi'ed
X-ray) of the stomach, .patients are
given suitable salt of barium
because

fa) barium salts are white in
colour and this helps stomach
to appear clearly

(b) barium is a. good. absorber of
X-rays and helps stofnach to

appear clearly

(¢) barium salts .are easily
available

(d) barium allows X-rays to pass
through the stomach

21. The elements of a group in the
periodic table

fa) have similar chemical
properties

{b} have consecutive atomic
numbers

fc) are isobars

(d) are isotopes

22. Which one among the following
polymers is used for making bullet-
proof material?
fa) Polyvinyl chloride
(b} Polystyrene
(c) Polyethylene

(d} Polyamide

O-DETA-M-HL/48A
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23. The pH of human biood is normally
around

{a) 45-55
(b) 55-65
(¢) 7-5-80

(d) 8:5-9-0

24. The pH of fresh groundwater slightly
decreases upon exposure to air
because

(a) carbon dioxide from air is
dissolved in the water

b} oxygen from air is dissolved in
the water

{c) the dissolved carbon dioxide of
the groundwater escapes into
Aair

(d) the dissolved oxygen of the
groundwater escapes into air

25. Who won the Wimbledon 2011 men’s
singles title?

(@) Novak Djokovic
{b) Roger Federer
c) Rafael Nadal

(d) Andy Roddick
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20. INE & X-few wew (T .X-feo) ,23. TFd TF F pH WUROd1 e gt 87

} gedt Ut A A w1 Iy T R
ST 8, i (a) 45-55
{a) %ﬁqﬂmﬁmwuﬁﬁ‘sﬁm%aﬂt (bj 55-6'5

g WY W g feme § e '

EoGi {c) 75-80
(b) <fEm, X-feoit =1 = = o

TN § SR TN H gEE @ 8590

feEn 4 demaar =@ §
(c) Afm TEw sl & Jueey § 24, T fet W pH, TY-wARE TR w

, T

(d) AEm, X-fHwn = mEE § A ot v o &

ST 3 @ (a) T W FEA TEAFHES & 7 g

STt @ F
21. 3Ed @Rl & OF @ & q (b T A T 9§ e W g
TaES 07 @
@ W T 7 T # () e # Yo FER SReTTES
(b) A A FHIE T a1y # fepet Tt @
{c) WA T 8 (d) e 3 gha ofedem o .
EEASIGi ;

(d} T A 8 ¢ i |

22. fffes # ¥ MW w g, 25. freder 2011 qov whw faas feed

Meft-Aeft (FAe-y%) T_ef 1 § T frar?
Jhan &7
fa) TETH S
(a) TTATRATES FERES
b) T HEW
() RT=TEeA )
() dRTRE (c) THHA TS
(d) dATES () T TReF [
O-DETA-M-HL/48A 11 [P.T.O,
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26, Which sttiong the ng
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. has recently eiemiﬁd to g
_grant of US § 1 biilm-*"
‘reconstruction of the Nalancia
‘University?

@ USA
(b} China
{cj UK

() Japan.

27. Which one among the folidwzng is

the fastest Indian Supercomputer
recently developed by ISRO?

{a) Aakash-Al
{b} Saga-220
(c) Jaguar-Cray

fd) Tianhe-1A

28. The year 2011 has been celebrated

by UNESCO and IUPAC as
International Year of Chemistry to
mark the 100 years of Nobel Px_‘xze
winning by Madam Curie in
Chemistry. In this context, which

of the following statements 1s/are
correct?

1. The wunified theme of the
celebration is Chemistry—our
life, our future.

2. The celebrations are made to
mark the contributions of

women to the development of
science,

\: Pres;dent?

() Costa Rica

(@) Malaysia

. Which

élétuné?
oy Vltamm A
(b} Vitamin D _
() Vitamin @i

{d) Vitamin C

Studert®&uvidha.in
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26. Prefofae &dl # @ frm w3 AW
fafremer % wHufor 3g e@ & A
1 fafa go wHo Eem & AW | W
foofar foran 27

(@) o THe To
(b) =M

{c) Fo FHo

(d) ST

27, Frefafae § @ F9-91 T, ISRO 3R &
B § frrfa R e daam W -

FEI 87

(a) ATHER-Al
(b) |FI-220
o) -
(d) forz-1A

28. T i HeA FH FN N TERR S
¥ 100 ad ¥9 ¥ o # T 2011 H
UNESCO 3R IUPAC T =iy
e o % ' F WEn S @ 2 W
ey 1 Pp=fefag wud & 8 ®9-w/4
ud 8/87
1. "l # uhpa faweEy @
THEA—EHT S, B0 i |

0. % g Rem % frem # Afgered
% e = Fafw Y g R
50 T 31 |
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vy pret e 2R kiE | ETEED TG R HEl IW

g :

N '
(a) I 1

(b) FEA 2

(c) 13 2 TA

@) FarisRag2

29, wEd 2011 #, Pwfufea 2 & A

391 X o of oA &1, 3 Tl s @
sl Ja § mEw W 4, 3w uEd
Tt % w9 § feifa fEn?

(a) wARET

(b) e TR

(c) S

(d) MR-

30. Frffag § @ =W-w & foerfim & =
o T % forw oTrawa 27

(@) Ffm A
‘b) faafm D
() Taafm K

(@) Tafmc

[P.T.O.
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31. Over 90% of the world’s-biomass is
in

{a) ‘tropical rain forests.
(b) freshwater wetlands
{c) topsoils

{d} oceans

32, Which one-among the following is a
source of methane emission into
the atmosphere?

fa) Automobile exhaust fume
(b} Industrial chimney
(¢) Mining

{d) Wetland

33. Which one. among the following
statements is not correct?

{a} Trophic dynamics represents
the transfer of energy from one
trophic level to another in a
food chain

fb} In deeper ‘parts of oceans,
primary production remains

almost nil

(¢/ The primary’ consumers are
called autotrophs

{d) The decomposers are called
saprotrophs,

O-DETA-M-HL/48A 14

34. Carbon dioxide is called -a. green-
house gas because

(a)

(b)
{c)
(d)

35. The

its concentration remains
always higher than other gases

it is used in photosynthesis
it absorbs infrared radiation

it emits visible radiation

fossil of  Archaeopteryx

represents the evidence of origin of

(a)
(b)
(c)
(d}

birds from reptiles
‘mammals from reptiles
reptiles from amphibians

mammeals from birds

36. Which of the following statements
is/are correct?

1.

NIFTY is based upon 50 firms
in India.

NIFTY is governed  and
regulated by the Reserve Bank
of India.

NIFTY does not trade in

‘mutual funds.

Select the correct answer uging the
‘code given below :

Code : -
{a). 1 -only

) 2

fc). 3 only

(dj 1 and 3

B L S —_— ]
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31, fam @1, 90% § 3rfres Shavwr F& 87 34, FEA SRATFES B MR 9 Hel Sar

: 3, Hifs
(o) SR T 3 (@) T w6 ws @
(b} HAEvEAE T’ F sHfirs Tl &
(b) ~TE -G H W At ¥ -
(c) aRegan A (c) ?mmmmm

(d) TR A
(d) u% g7 fafew seafia +tl R

32, Prefafag # @ ®F-T O, agAved 8§ 35. anfberefew w1 shamm freht sy &

o Teai B T 6 37 T R P o 87
o {a) lal & uslt
. @ e o (b) wOTE A T
* ) oheifes R () swEEld wle
: @) Rt A T
[ (c) &
i
{1 (@) 2 36. frffad wudt § @ Fm-T1/Q Tl #/87
1. NIFTY & # 50 @™ WBEl
T g suriE R
33. f=fifes § } FR-w wF 5971 98 T8 2. NIFTY Wi o 3% g Frabm
27 w fifrafia 20
' 3. NIFTY &go@ %8 # =amr =@
(o) eV SEe §, o iR, w9 F@T
WY gl 9 TR qE HA Ok
s =) Frefia e 2 2 R W W oW R I
EGELE
(b) TEEER F afuw m@ owE 7z :
gl IeEA T I @ @
{a) Fad 1
fc) wrerfireR W‘ﬁfﬂaﬁ ED| 'ﬁtﬁﬁﬁ ETy| (b} 2
s 2 (c) Fas 3
() FTEE B gadrft N S (d) 1313
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37. ‘When the productive capacity “of 40. Which one among the following
the economic. system of a State is not a clause of World Trade
is inadequate to create. sufficient Organization?.
number of jobs, it is called:

(a) Most favoured nation
(aj seasonal unemployment treatment

(b} Lowering trade barriers with

(b} structural unemployment e
: negotiations

fc) disguised unemployment (¢} Providing financial support to

the countries having deficit
(d) cyclical unemployment. balance of payments

{d) Discouraging ‘unfair trade
38. Which one among the following is practices such as anti-
not a Millennium Development dumping and export subsidies

Goal of the United Nations?

(@) Eradicate extreme poverty 41, Special Drawing Rights (SDRs) relate

cate ¢ ‘o

(b) Retduce birthrate and death (@) the World Bank
-rate )

(b} the Reserve Bank of India
(¢} Improve maternal health

fc} the World Trade Organization
(d) Promote gender equality
(d) the International Monetary
Fund
39. Fiscal policy in India is formulated

by . .
42. Which one among the following is

(a) the Reserve Bank of India not a landlocked country in Africa?

(a) Botswana
{bj the Planning Commission ’

(b) Zambia
fc) the Finance Ministry.
{c} Lesotho
(d) the Securities and Exchange
Board of India (d) Nigeria

O-DETA-M-HL/48A 16
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37. & Fredt Tsg A1l SHeE hl e
g gaty gem § OOR g w %
fru argaty 21, 9t W T wEd 87
(a) dradt ST
(b) TTEATEHS ST
c) T=BA AT

(d) = e

38. TmafRaa § ¥ #F-91 T, GgF TY =
aemTest famm s TE 87

fa) W TiEar | e H
(b) TH-T TE GI-T HI FH HA
(c) WY ST § GUR T

(d) Tam gama w gaitla e

39, Wi § TSEE iR & Fmin fhs g
fopan trem &7

(a) YT fod a9
(b) T ITEM
{c) o W

(d) v s v ot =i

O-DETA-M-HL/48A
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41, fgm  smEwr iR

40, Tefifan 4 @ =9-w s, Ay =uR

a1 F1 @ & 87
(o) watfos gaerh Jrer Ty = as o

(b) @il & FU SR h st B
FH R

(0 W A R, B yEm wge
e 1 8, T e e S

(@) sEfm =mR oweeR, @ f6

e w Pale Wwer, w
BalCEea

(SDRs) Torer@
wrafrg §7

{a) fam =
(b) U FFE 9%
(c) Taa =R @A

(d) U qZ A

42. hE #, Preffe & @ SE-w W

yfr-ufeg 7 87
(a) G
(b) ferEn
c) Toara

(d) Esfiean

[[P.T. O.

StudentSuvidha

in



http://studentsuvidha.in/
http://studentsuvidha.in/

‘43, The imaginary line on the Earth’s 46. If news is broadcast from London at

surface that closely: follows the 10:30. AM, at' what: time: it will be
180° Meridian is heard at Baghdad {45° E)?
(a) Prime Meridian (@) 7:30 AM
b) 9:00 AM
{b) Equator (b) ’
fc) 1:30 PM

{c) Intermational Date Line

(d) 12:00 Noon
{d} Tropic of Cancer

47. The site of Harappa is located on the

44, The country that shares longest bank of river

border with India is
{a) Saraswati

) Ch
(@) China (b) Indus
{b) Bangladesh . (c) Beas
{c} Nepal fd) Ravi

d) Pakist ; 1
(d) 1stan 48. Which ‘one among the following

statements regarding Bal

Gangadhar Tilak is not correct?
45. The distance between two
consecutive longitudes (91° E and

a) He propounded the theory of
92° E) at the Poles is fa) prop Y

the Arctic Home of the Aryans

(a) O km (b} He founded .the Anti-Cow-
Killing Society
(b) 18 km . .
{c¢/ He set up the Home Rule
League at Poona
{c/ 25 km
» {d) He supported the Age of
E_: ! (d) 111 km Consént. Bill
O-DETA-M-HL/48A 18
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e % il Ty S T - Al T | R

43, g HN gag W 9 FOAE @R

2, S 180° AT T FLdl 87

46. IR =T R 10:30 qETe T GHER THREA

A, A58 aER (45° E) ¥ feg wa g
SRM?

TR
' @) R (@) 7:30 TG
[ |
(b) A (b) 9:00 T@E
!I (0 ratd fem () 1:30 3T
] (d) FHXa (d) 12:00 TR
!
3 47. W & @ B A % 92 W EfeE :
; 44, FF-T1 3@, VG & 9 wed Al @ 27 |
wreht o /7
(@) TCEAT
T
fer = v Ry
(b) © =
) e’ (d) T
(d) wfraH ;
48, Afafae wdt # & FH-W T,
e TR frerw % weey o g T 27
45. g W A FE WA (91°E R (a) TR ol % Iwegde e %
92° E) & ®a i gl w1 gty T = wfore e
:'._ @0 km . | (b) FER TEy-fdd @S H I
i ED
L (b) 18 km (c) FER T A e o f T
E H
i {c) .25 km
n - (d) e mefa B g fadus =
i (d 111 km wweft e
A
1
1 O-DETA-M-HL/48A 19 [P.T.O.
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49, Which one among  the following 51 "Who among the ‘foliowing Governor-

LA

= . ‘principles: Was not jpropagated by

<7 Generals formed, the:Triple-Alliance

the Theosophical Society?. against Tipu Sultan?
(a) Belief in Karma and Rebirth (a) Warren Hastings
Lo . {b) Lord Cornwallis

(b} Belief in Universal Brotherhood

and Humanity

B (c} Lord Wellesley
fc) Belief in Vedantic Philosophy
- (d} Lord William Bentinck

(d} Belief in the Eradication of -

Untouchability

52, Take the case of dignity and

equal rights for women. How
do democracies help?

50. Which one among the following
statements .is -correct? (a)

fa) The Revolt of 1857 was not
supported by the Nizam of
Hyderabad (b

(b) 'Dinabandhu Mitra was the
author of the book, Unhappy
India (c)

fc) The Sindhias of Gwalior gave
shelter to thé Rani of . Jhansi

(d}

(d) Mangal Pandey led the Sepoys
March to Delhi

O-DETA-M-HL/48A 20
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Women in democracies have
equal degree of political
representation in legislatures

Women in democracies have
guaranteed rights and are
always treated with respect

-

Women in democracies are not
subjected to sex discrimination
in most aspects of social life

In democracies, the principle of
equality is accepted as legal
norm, which makes it easier to
guarantee their freedom and

dignity
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49, Prefafga. fag=i, ® @ .&F-w, -TF,

Ty S

(c) FH TE e 4 faam
(b) AETE e, T ArEa # faam
(c) At =l A e

(d) EIEa-IeH 4 faam

50. Frafufgd weel § @ ®H-T T W2 87

(@) 1857 ® P etew % G
TR anla T on

T

(b) oEH §fEw TEE F Q@S aHEY
w9

(c) wie & wh B e ¥ faften
qr IRy & ot

(@) W wws 3 R f e R
R g e

O-DETA-M-HL/48A

21

.51, fefafgs R s, §8 BeR

&

A geam % Raens-Husha mawitg @@
aqr?

(@) a0 AR
(b) wiE wHaTRE

(c) wE Fereh

" @) it PR

B2. &l @& uigenall hionian @' eIty

N I B, Sleha [hE THT TERIF 87

(a) At § nfgensit ® Rrumwvsa
# wAe e § gerifes SRt
T B 8

(b) wwdat § Afgemet W wem@m
after wE @a & @ I W
e E A ERIISICI

(¢) ‘e § ulgensdt w1 i
e % srfiaiw uedt § fom-9g =
QAT TE1 BT IgaT &

(d) ehemdat § TR w e fafte
wRmm ¥ w1 § wiEa g, s S
A, T T FeAn{E T S
T 3

N [P.T. O.
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‘53. The Constitution of" 1India-- s
republican because it

fa) provides for an  elected
Parliament

(b) provides for adult. franchise
fcj contains a. bill of rights

(d) has no hereditary elements

54, Assume that India and Pakistan are
engaged in an increasingly volatile
situation over the LoC in Jammu
and Kashmir with a Kargil fype
infiltration by Pakistan. A
conventional war between. both the
countries is inevitable under the
shadow of nuclear weapons. In this
situation, what is ‘the nuclear
capacity that India should possess
against Pakistan to deter a nuclear
exchange?

(a) A first use nuclear policy’

(b) A much larger nuclear arsenal
than Pakistan

{c} A credible nuclear deterrence
with second strike capability

{(d) An intercontinental ballistic
missile with a range of
5000 km

O-DETA-M-HL/48A 22

55. Which of the following statements

is' correct with regard ‘t6 Yudh
Abhyas?

(a) It is an, Indian military ‘war
game’ with ‘regard to Pakistan

(b) 1t is an Indian ‘military’exercise
with Oman

(c) It is an Indian military exercise
with Bhutan

(d) It is an Indian military exercise
with the US

- £

56. Which one among the following

statements is correct with regard to
the C-5M Super Galaxy?

(al Itis alarge military helicopter

s

™

(b} 1t is a large milif‘a‘ry transport
aircraft

{c) Itis a galaxy of stars very close

to the Sun.

(d) It is a US fighter aircraft to be
completed in 2014

StudentSuvidha.in
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53. W@ ¥ GYH AT 8, FETE
(o) T Praifa Gug %1 3Ty w2
(b) TTEH TR 1 T4 LT &
(c) el Rydes wfae w=w g

() T ST a T T §

54. T e 5 TRREE TR H T HIE
St gds % Wy, sy i i #
fiw W@ w, wwa i nihEE o
e g wifen fafa & goaw ) Tfeem
Tl A owE w A W F S
pliiic I ekt Cil G A R
TH-GR T AR T o Fawe & ferg
qifeeA ¥ g e & sfvmr & Fa
TR e Bl =Tey?

(a) S T S A i

(b) wiFEA. H oNEm  wE =S

) T anwmn amarw  fRwwda
aifirhrE Fram

(d) 5000 km YU TE1 IHR-

e mauE ¢

O-DETA-M-HL/48A
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55. ‘gg. oW & weey # fefafea s

# { P91 T TE 27

(o) WiHEH ¥ WY A8 WKEE &
FUE IE A &

(b) TE IR F W AR A F TH
ey B

(c] Tg W & G WRAE & T
3T B

(d) IE Yo ThHo H WY WG AT H
Teh 31T 8

56. C-5M §W ot % wary #§ Frefafa

FHor! § ¥ -9 T A /2

(a) T8 TH g1 B Felepiek @

(b) T T sgl & yiEed fame 2

() a8 §@ ¥ wga fee T & T
HTHTIMT B

(d) a'a'2014ﬁ‘t[9faﬂara11°mo
1 U ASTE [99H 3
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57. Consider the ‘following statements :

1. The Kalinga Prize is.an award
given by UNESCO for
exceptional skill in ‘presenting
scientific ideas: to laypeople.

'

2. Dorairajan Balasubramanian
was the last person from India
to receive the Kalinga Prize.

Which of. the statements given
above is/are correct?

fa) 1 only
‘fb} 2 only
(c/) Both 1 and 2

{d} Neither 1 nor 2

58. Which one among the following
companies received Golden Peacock
Environment Management Award
for the year 20117

{a) BCCL
(b) NTPC
{c) SAIL

(d) TISCO

O-DETA-M-HL/48A
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59. Maich List-I with List-II and select
the correct answer using the code
given below the Lists :

List-1 List-II
(Short-listed Book for (Author)
DSC Prize for South

Asian Literature, 2012}

A. Bharathipura 1. Kavery
Nambisan
B. ‘A Street in 2. Shehan
Srinagar Karunatilaka
C. Chinaman 3. Chandrakanta
D. The Story that 4. U.R. Anantha-
must, not be told murthy
Code :
{a) A B C D
- 4 2 3 1
) A B C D
1 2 3 4
o A B C D
4 3 2 1
(d} A B C D
1 3 2 4

60. In which one among the following
Latin American countries, a woman
‘has for the first time won the
presidential elections for the second
‘term?

{a), Brazil
(b} Venezuela
¢} Uruguay

{d) Argentina
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57. e wert W fem fif 59: G-I W TH-IL & gafem wfw
1. wfm gEeR UNESCO. 3 fean ﬁﬁ%:qﬁﬁqwiammmw i
W AT R ¥, S e @ § '
dfer fed @ wga w@ " |
v At 3 forg fan smar -1 -1
fere L (=faror ufirard arfzea (A=)
2. dfUSH AAGIHEH, HAT JEET 3 DSC YT,
Wi R T WRd & s =afE 4 2012 & foro =l
o et % Tl T8 )
S ol 3§ -/ R A, yRAg 1, HEd Tl
B. v @ fivr 2. Ve Faas
(@) 1 C. FmmT 3. SEEl
D. e R aede 4. Jo Ao 31:{-?[1{!%
, (b) FaA 2 ot S B
B (© 132 3Ht wE
-: () A~ B C D
@ AR 1mAR2 42 3
‘) A B C D
1 2 3 4
) A B C D
H 4 3 2 1
ss.ﬁn%rﬁaa'mﬁ!ﬁﬁﬁ%q@ﬁaﬁ @ A B C D
2011 % forg el A Tl S 1 3 2 4
A LRI
_ 60, frerfiem A o 2wt d @ Fre
g {a) BCCL W ¥, ws wfen 3 weel Wr fadfw
' T ¥ for owafa & e S 87
(b) ‘NTPC (a) S
(b) FAFEA
(c) SAIL ,
{c) T
(d) TISCO (d) ST
O-DETA-M-HL/48A 25 [P.T.O. |
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61. The macro-nutrients provided . by 64. In wildlife- conservation, which one
inorganic fertilizers are among the following best defines an
‘endemic’ species?

fa) carbon, iron and boron (a)

(b} magnesium, manganese and

sulphur
P (b)
(¢} magnesium, zinc and iron
(c}
(d} nitrogen, phosphorus and
potassium
(d)

62. The ultimate cause of water
movement in a plant stem against

When the critical number of a
species declines in a forest due
to parasitic attack

A species which is cosmo-
politan and can be commonly
found in a biosphere

An endangered species which
is found in a few restricted
areas on the Earth

A species confined to a
particular region and not
found anywhere else

gravity is
65. Match List-I with List-IIl and select
) the correct answer using the code
fa) osmosis given below the Lists :
_ L List-T List-II
(b} transpiration (Tiger Reserve) (State)
A. Indravati 1. Karnataka
() photosynthesis B. Periyar 2. Orissa
C. Simlipal 3. Kerala _
d) diffusic -
(d) diffusion D. Bandipur 4. Chhattisgarh
Code :
63. Vermicompost is afan
(g A B C D
1 2 3 4
{a) inorganic fertilizer
(b) A B C D
{b) toxic substance 1 3 2 4
fcg A B C D
(c) organic biofertilizer 4 3 2 1
(d)

{d) synthetic fertilizer

O-DETA-M-HL/48A 26
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61. FERF JHEH FU WH FRA S A
TEquITF FA-H §7

(o) w7, wre o S
(b) Heftfrm, Fhw ef wow
(c) rfiem, firs ok o

(d) EESH, BRI S MefREw

62. M F.99 § Teca % fog SIA-w=eE #
STYRE T T 7

@) ATE
(b) TTHEESA

(c) THTI-HTE

(d) Taaa d

(c) TFHEAE I I

(d) afs‘maa‘@

O-DETA-M-HL/48A
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64. Fg-soh weem #, Frafafea 4 @ -
uF, ‘T i I wEH S
77

(a) 9% § WSl STEAW F FRO W«
freht s A wifas T w4
E Gl -

() N e w@ fEsdE ® e
Shamvee & o w9 § e @

(c) UH TR WG S gl W FS
yirafaa o= § & fed g

(d) T8 it s Rt fadw &= 4 i
A &R Tt e g 7 frewd @

65. i1 W wh-n ¥ gt ST s

=Rr ¥ 9 Ry g A
FR R :
-1 -1
(A= awfem &) (W)
A: Tt 1. Al
B. qf@ER 2. 3
C. fmefum 3. &
D. WY 4, AT
e :
@@ A B C D
1 2 3 4
(b} A B C D
1 3 2 4
¢/ A B C D
4 3 2 1
@@ A B C D
4 2 3 1
[.P. T 0.
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66. Duncan Passage is Nocated ‘between
fa) South and Litgle Andaman
(b} Little and Great 'Nicobar
"
{c) North and Middle Andaman

(d} Middle and South Andaman

67. Consider the following statements :

1. Ozone is mostly found in, the
stratosphere.

2. Ozone layer lies 55-75 km
above the surface of the Earth.

3. Ozéne absorbs ultraviolet
radiation from the Sun. '

4. Ozone layer has no significance
for life on the Earth.

Which of the statements given
above are correct?

(@ 1 and 2
(b) 1 and,3
¢/ 2 and 3

(d) 3 and 4

O-DETA-M-HL/48A

'68. The main area "of prodiction®of

icebergs is found.in

(@) the West Coast of Greenland
(b} the East Coast. of Japan

(c) the North Coast of Siberia

{d) the West Coast of Africa

A%

69, Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-IT
(Battle) (Treaty)
A. The Third 1. Treaty of Salbai
Carnatic War
B. The Third 2. Treaty of
Mysore War ‘Lahore
C. The First 3. Treaty of Paris
Maratha War -
D. The First Anglo- 4. Treaty of
Sikh War Srirangapatam

Code :

b

fag A B C D
2

1 4 3
() A B C D
2 4 1 3

[d A B

EN @]
[\l
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66. 4 i R ftw fRaRr -

*ri

1

(o) e ofv ffeq sweAm & e

v Tt st fraam & =

(c) T i mea wenE % @

= 5

(@) W i 2ff] speae & iF

i

67. Frfofaa wut ® fEw Hifvm

1. 39R FE; S 7 arfl
T &1 '

o, e # wa gt f wEE
55-75 km 9 f&m@ ¥

3. e, gl @ oW Al W
Tfrtor =1 SrEEmEe AR

4, ¥R Ew e W s & R
&S mew 7d 8,

st o 7 & A 8
N .

(@) 1R 2

() 133 .

{c) 233

(dy 334

O-DETA-M-HL/48A
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) S i 66 A
(b), ST F A qe H

(c) WAt & Tl we #

(d) ThveRt % ofief a2 A

69. §f-1 F -1 § gafma Al i

ELIEE (£ L4

-1 FER-11

(38) (af)
A gdaweEge 1. woEE A
B. @EdgIg , 2. ERRAEM
C. woH Wiel I8 3. it i d@fa
D. wun a-fa 4, sftmaed $ 9@fy

e
T ¢
fa) A B C D
2 1 4 3
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70. The Operation Polo was associated.

with the annexation of which one
among the following Princely States
into Indian Union?

fa) Kashmir

(b} Junagadh

73. Which of. the. following statements

-about Permanent Settlement are
correct?

1. If conferred proprietary rights
to peasants.

:2. The Zamindars were recog-
nized as ‘the proprietors of
land,

‘3. The government ‘permanently

(c) Travancore fixed the land revenue demand.

4, The Zamindars acted as the
middlemen between the

(d). Hyderabad peasants and the government.

Select the correct answer using the

71. The name of Ram Prasad Bismil is code given below :

associated with
Code :

@ 2,3 and 4
(b) 3 and 4 only
{b) Alipore Conspiracy. Case (¢ 1 and 4

(d 1 and 3

@) Kanpur Conspiracy Case

{c) Kakori Conspiracy’ Case

74. Which one: among the following
nontoxic gases helps in formation
of enzymes which ripen frhit?

(a) Acetylene

{d). Meerut Conspiracy Case

72. Which one among the following was (b) Ethane
not a demand of the Prarthana o
Samaj? {c) Methane

(d} Carbon dioxide

{a} Women education ‘ )

75: Age of fossil may be found out by
determining the ratio of two
isotopes of carbon..The isotopes are

fa) C-12 and C-13
(bj C-13 and C-1%4
{c) C-12 and C-14
{d) C-12 and carbon black

(b} Widow remarriage

(¢) Raising the age of marriage for
boys and girls

(d) Abolition of untouchability

O-DETA-M-HL/48A 30
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70. ‘arfdtym dieh’ Frafifae 3 ot A A
g T %, i v # wumed d
wraf-ua 27
fa) HIHR
(b) TOTE
(c) ATEEHT

(d) TOEE

71. TiErE S %1 Tm el s 37
a) FAR A H

(b) ST T FH

o, Pl § @ SR-d G, wdw T
£ At Tt A7

(a) @i R
(b) T qAfaTE

(0 g T i 6 far 6 9y
# gfg &

(d) STETTE 6 A
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73, fraffen @ @ @R-8 wag fawerh

TR & gy 7 w7
1. T FEm ) e W AT
wer faar|

2. Wﬁﬁs@%ﬁrﬁﬁ%wﬁ
T et

3. =R Y yft ere At S e w9
¥ fafem == fan

4. wiifer, Fuwl o wER F AW
et ot i o @

9 R @ L W oW W OEd W

gf

we

(a] 2, 3 R4

(b) Fad 3 W 4

@ 134

(d) 13W3

74, Prefafad § @ FR-6 6 Rk e w8

SREva F SR TeEa w , WO
) TR &7

(a) TR

(b) W

(c) T

(d) FTEA SRS

75. a6 oy, FEA F A Gt &

s &1 Pt @, wem A S et
21 3wt FH-8 87

(a) C-12 3R C-13
(b) C-13 3 C-14
{c) C-12 3R C-14
(d) C-12 R FEa =t

[P.T.O.
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76. Which one among the following {c} Carry out a joint army-air force
statements is correct? raid on. the ‘mosque
{a) All proteins are enzymes (d) Negotiate with the terrorists by E
utilizing a local mediator to
{b) All enzymes are proteins buy time and then send in

special  National  Security

{c) None of the enzymes is protein Guard (NSG) commandos

(d) None of the proteins is enzyme
79. Which one among the following

_ statements about NATO is not
77. Which one among ‘the following correct?

statements is correct?

(@} All bases are alkalis {a) NATO is a collective defence
organization in Europe

{b) None of the bases is alkali

b} The US is an ex officio member
{c) There are -no more bases of NATO

except the alkalis

(d) All alkalis are bases but all {¢) Turkey is a member of NATO E
bases are not alkalis

({d) NATO has 28 independent

78. ‘Suppose a terrorist. group has laid member States

siege to the Hazratbal Shrine in
Srinagar, Kashmir. They have also I
taken around 80 civilians hostage. 80. The Cabinet Mission ‘Plan for India |
Which one among the following will enviéaged a
be’'the best response by the security
forces in this situation?
{a} Federation
fa) Threaten the terrorists using
loudspeakers with immediate

military action unless they (b) Confederation

surrender
{cj Unitary form of Government |
{p) Surround the mosque ‘with
visible army deployment and i
then attack the mosque {d) Union of States l
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76. T=fafaa I @ FH-91 T FuH G 87 (c) WIESE T GYH YTAAT-ATTET - e
FEifad
(@ wft WA, gfeve §
(d) g ¥g @9 TR & o

(b @i wfFwa, NdR E wHEm  Ae W WM W
HrawaTedl A T FA AR T

(c) 3 ot Wikvs, WA T & i ofim gan ME (NSG) FHR
SEC

(d) =5 o W, wieva T §

79. fr=fafes w9 4 @ F=9-91 U, NATO

77. e @ T E wR T B 8w 4 27

(a) wft e, AR E
(@ NATO 4 H TH THEH T

(b) B o e, wR T ¥ SECEE
4 {c) & & e w3 aReE 2 () Fo WHo, NATO 1 TH Y3 6w 3
dy wft am, ww & wg it A, {c) TH, NATO 1 T W &
I

(d) NATO % 28 W3 W A &

78. ¥R WifVL, TH TamaRt WHE 4 A,

YR § gSaae TS ) el H Al

£ IR e 80 AR w1 auss oft 80. W & fru Hfade fagm @ 3 e
: a1 fomm §)1 @ = &, Peiifea 4 @ T ferem?
: F-H F g we B wEay b
' writ? (o) TEEE (HSXEA)

(a) HAEHAE H AT T ) S ()

TR 8 wilan w8 R umeh
&, o< o f5 3 mdm a
(c] UeHToHS® &G h! TR
(b) <@ 4= wifEsA @ AR #; oW
o1 AR T ufeeg o gwen st (d) TS %1 6"
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was created by

fa) an amendment in  the
Constitution of India

(b} a decision of the Union Cabinet

{c) an Act passed by the
Parliament

(d) an order of the President of

82. Under which law it is prescribed that

. all proceedings in the Supreme
Court of India shall be in English
language?

{a). The Supreme Court Rules, 1966

(b) A Legislation made by the
Parliament

{¢} Article 145 of the Constitution
of India

{d} Article 348 of the Constitution
of India

83. Which one of the following reactions
is the main cause of the energy
radiation from the Sun?

fa) Fusion reaction
{b} Fission reaction
fcj Chemical reaction

{d) Diffusion reaction

O-DETA-M-HL/48A 34
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81. The National Commission for Women 84. In SONAR, we use

{a) ultrasconic waves
(b) infrasonic waves -
(c) radio waves

{d) audible sound waves

India.- 85. A liquid is kept in a regular

cylindrical vessel up to a certain
height. If this vessel is replaced by
another cylindrical vessel having
half the area of cross-section of the
bottom, the pressure on the bottom
will

(a) remain unaffected

fb} be reduced to half the earlier
pressure

fc) be increased to twice the
earlier pressure

{d} be reduced to one-fourth the
earlier ‘pressure

-

86. The time period of a simple

pendulum having a spherical
wooden bob is 2s. If the bob is
replaced by a metallic one twice as
heavy, the time period will be

(). more-than 2 s

(b} 2s

fc) 1s

(d) less than 1s

b | il 4w :
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81. UYH Aften AW PR MR . A
(o) WG % Gfaum # e |/
(b) mnﬁw%ﬁv’hﬁ
(c). e 3 Wi At }

(d) VT % Tgafd % IRW A

g2. Frg m & ararid g ffta @ fF wa &
o § gft?
(a)t I=IaR =TEE TW, 1966
(b) wEE g feran e Fafy-for
fc) Wd % Wiaum 1 g 145

(d) E % GRUE F 37T04 348

£

83, frafefaa & & #m-H s, ¥ 2
il ferRRTT 1 T A 87

(o) Hemm sfufwn
(b) Ta@ven aAtifeR
(c) TEmER sl

(d) Teraron srfrfseRm
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84. ;SONAR # F1 I €l &7 s

fa) TN GO
(b) ¥ &

() e aid

(d) et

85. @ﬁaﬁama@mﬁ@ﬁaﬁaﬁ

w fiftn S oF @ s AR W
mﬁwaﬁ?@ﬁ@ﬁmﬁwﬁuﬁ@rﬁa
wQ &, Rmdl aeft f sgE-we H
e ST B, ° el 9T e
{a) GTWT%I?IHHTI%‘TI
(b) HTH @ T H L @ TR
(c) =Rt G T -G B S

(dj TeF g T T~ T TR

86. TF TiAHR @ Tew a Rl W@

Sreis w1 STEdEE 2 s 21 AR Mes W
g@wwaﬁﬁmﬁmﬁﬂ

T wm, @t SnadaT @ gt
(a) 2s @ A
(b) 2s
¢ 1s
{d 1sq=FA
- [P:T.O.
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87. Which ofi¢c amohg the ‘following
statements about an atom is not
correct? !

(a)

(b)

(c)

(d

88.--China

Atoms always combine to form
molecules

Atoms are the basic units from
which molecules and ions are
formed

‘ o
Atoms are always neutral in
natire

Atoms. .aggregate in large

numbers to form the matter
that we can see, feel and touch

recently- .objected the

participation of an Indian company
in..its joint venture with another
country for offshore oil exploration.
Which one among the following is
that country?

- {a).

(b)

Grb

Myanmar-

South Korea- .

{c} Taiwan

{d) Vietnam

O-DETA-M-HL/48A

89. Which one among the fOHOWi?)g
statements is correct?

The current Prime Minister of Nepal
Dr. Baburam Bhattarai.is heading a

(@)

(b)

(c)

(d)

consensus government of all
major political parties of Nepal

Nepali Congress—-Maoist-UML
coalition government

Nepali Congress—-Maoist
coalition government

Maoist—-Madhesi coalition
government

90. An African country, Sudan has been
broken into two recently with
formation of a new country named
South Sudan. Economy of South
Sudan will depend on its

(a)

(b

{c)

{d)

agricultural product

minerals

forest product

fishery product
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g7. Trafflaa # ¥ PH-W1 TF T oY 89. frfifaa & @ FH-91 TF 97 FF 87

forra & Wl A 37 .. :
W YU % TERE TUEEE Slo SUH WS

(a) TETY T T T AY T B @) AT ¥ wh e T T A

FEERT W T g TR T

() oY ST ST 8, R o
M AP A 8 (b) e FEE-MEE-UML Teee

EHR 1 gl W@ §

(¢) TRRTO] T Q- T Iel B €
(c} TR HEE-THEER! TS TR

1 g W R &
(d) T ged WEm H YA g
e TR ¥, B 3w W g,
WA L Thd § I T wH & (d) FISTE-TEf Teeu W
WA TR T

88. @« I I A, e a7 @ & fg, .
- R ¥ ¥ W AR E W 00. el d A UH 2MER 3 gEE @ 9 d %

. e Fel F a9 W Ak 6 o, SR T 2w a e st ger

frerferfia & § ag B-an 2 87 w1 am f wn @EWogeH W
B s \ arsferaeen form @ fsfe wUft?

(a) FTAR (o) FE% FR IR W 1
(b) o ifem (b) < GRS |
{c} TREH (c) 3TH T IR W

(d) fagaTm (d) THE HeH I R
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91. Indian Space Research Organization
and the Airport Authority of India
have recently signed a memorandum
of understanding to install a
space-based augmentation system
(SBAS) to render the Global
‘Positioning System signal suitable
for civil aviation over the Indian
airspace. ‘What is the name of
the SBAS?

fa) GAGAN

{b) PAWAN

() AAKASH

(d) NABH

92. World’s first gold and jewelry-
encrusted car—Gold Plus, was
unveiled in the year 2011 as a
tribute to 5000 years of Indian
jewelry making. Who among the
following was the maker of the car?

fa) Tata Motors

{b) Maruti Suzuki

(c) Hundai

{d} Volkswagen

O-DETA-M-HL/48A 38

93. Which bne among the following
statements is' not correct?

The word ‘socialist’ in the Preamble

of the Constitution of India, read

with

{a) Article. "39 (d), would enable

- the Court to uphold the

constitutionality of nationali-
zation laws

{b) Article 14, would enable the
Court to strike down a statute
which failed to achieve the
'socialist goal to the fullest
extent

(c) Article 25, would enable the
Court to ensure freedom
guaranteed under that Article

{d) Article 23, -would enable the
Court to reduce inequality in
income and status

94. Suppose a legislation was passed by
the Parliament. imposing certain
restrictions on newspapers. These
included page .ceiling, price and
adyertisements. The legislation is
included in the Ninth Schedule to
the Constitution of India. In this
context, which one among the
following statements is correct?
{a) The legislation is invalid as it
" violates the freedom of Press
(b) The legislation is valid by
virtue of Article 31B

{c) The legislation is invalid
as it imposes unreasonable
restrictions under Article 19 (2}
of the Constitution

{d} The legislation is valid as the
Pressr is not a citizen under
Article 19 of the Constitution

StudentSuvidha.in

P [ S



http://studentsuvidha.in/
http://studentsuvidha.in/

91, WIg Faiel AGHYH HISA R W™
fmr iRt 3-ge €W AR 1y
83 F o s e % fo Sugw
rvsety woE-ffer sorelt 3 & fae
sraftg-anuaif HadR WOl (SBAS)
wiff w0 F o & wugar-3E
TXATER R # 1| SBAS W1 91 ™ 87

{a) GAGAN
(b)) PAWAN
(c) AAKASH

(d) NABH

92. Wi e Fmfor % 5000 &9 B H
wofer #§ af 2011 #, fag £ el aR
AN It ¥ T FR—es <@ H
Tl B ) 36 W W SR Fren
frfaftaa # @ =15 w17

fa) < HRY
(b) WTEA GIH
(c) T<i

(d) T
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93. Frfifgd wmi § & ®H-w & wd af

37

IRd ¥ gRum & R § ‘wmsEd’

s,

(@ g=de 39(d) F @™ Ui,
e Rt f gamiwa e
& ¥g AREE H qHY T

(b) ATT 14 F @ ufed, T FHI
= St ien 7 § el /8
F W FA A IEEA @ T F,
frafies 1 4 =meE & and
ST

(c) ITFRE 25 & A fed, A T
30 JFRE H AR TG Tl
ghfi @ § wwed wwmem

(d) FT=B] 23 * WY W, W W
wfrg 6 sEEE@e § @ w0 F
T = 1 gad S

94, W wifwe, €9g FW wiad T fEuA

wER-w w oFe Afm P @
st @ &1 = gEt B it
O, Ama qur Raee aftifem &)1 ==
fum yra % dfeum A A gy ®
ik 31 5w o 1, Prafoafaq s
# @ ®a-T Tl et
(@ ue fum wsfaftmr }, =if% %
I ) TEdAa B AT Rl §
(b) T 31B & MMUR W T faum
faftmra 3
c) & faum faftmre R, «ifs =@
afqum & oTg=a’ 19(2) % I=nd
argfera et s safrioer @ 2
(d I7 faum fatm= 2, wifs |faye
¥ ATWE 19 ¥ FA=FlA Y T
A T 2.
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95, With regard to the powers of the '97. While a proclamation of ‘emergercy

Rajya Sabha, which one among the i~
following statements is not correct?

{a) A Money Bill cannot be
introduced in the Rajya Sabha

{b) The Rajya Sabha has no power
either to reject or amend a
Money' Bill

¢/ The Rajya Sabha cannot
discuss the Annual Financial

is in operation, the duration of the
Lok Sabha can be extended for a
period

fa) not exceeding three months
(b) not exceeding nine months
{c) of one year at a time

(d) of two years at a time

Statement 98. Match List-I with List-II and select

{d) The Rajya Sabha has no power
to. vote. on the Demands for

the correct answer using the code
given below the Lists :

Grants _ .List—-I List—I'T
{Joint Naval {Countries)
Exercise)
A. Konkan 1. India-France
96. The ‘Nehru-Mahé.ljanoBis strategy of B. Malabar 2. India-United Kingdom
development guided the planning _ ' .
practice in India from the C. Varuna 3. India-Russia
D. Indra 4, India-United States
(a) First .Five-Year Plan, to the Code :

Sixth, Five-Year Plan’

(b) Fourth Five-Year Plan to the
Eighth Five-Year Plan

{c) Second Five-Year Plan to the
Seventh Five-Year Plan

(d) First Five-Year Plan to the
Eighth Five-Year Plan

O-DETA-M-HL/48A 40
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() A B C D
3 4 1 2
0 A~ B C D
3 1 4 2
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95. T=a w1 H W % e d, Pl
FoH B HF-G1 O FEL LY

(@) T G oA e guenfia T
femsnodar s

() T B F W oA fabdww R
st o anieE w4 i Tt T
Tl &

w(c) T a AT o faaron W ==t
e Tl 8

i

(d) mm%waﬁaﬂ-ﬁmnﬁ
1 vt 76 B R

96. ﬁmﬁm-mﬁ&ﬁlmﬁﬁ%mﬁ
AreT-9f3RaT =1 AnfeRia R

(@) TUH G=Edia T W s d=Edi
AT T

) Aeh  dmedfa Asw @ ewadt
EeEripRIE e GES

S
) Tadm dwedis 9w & @l
P I IS CIlGE

(d) om rrdfa A R sTed] deEE
qSE qF
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97. T, ST I Ye A B, T gF
o & sty fede amafy ow % fom
-'am:{mawﬁ%? :

L
(@) mq EHEE 31”—[?%
(b) T R ¥ eElE
() THIR-H U Tu

(d) THILH A aH -t

)

98. -1 # G-I ¥ galkm Hifm iR
i & A= Ry e @ Bl WA FHE
IW gL -

qeft-1 S gE-I
(v s (&)
)
A. FiET 1. RA-%H
B. AR 2. Ra-YIREes fHeA
Cc. & 3. 9RA-5G
D. T3 4 mw—qaﬁ%zé{q .
W ¢

(A" B~ C D
() A B C' D
4

@ A .B .G D
3
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99, If you travel along 'the Suez Canal 102. Which one among the following' is
from Port' Sdid to Suez; ‘you will riot Correct. regarding Tsunami?
come across several lakes: ‘Which of
the following lakes is not on this

Canal? {a) Tsunamis have a very long

wavelength

(a) Great Bitter. Lake
{b} Tsunamis have a slight swell of

about twelve inches above the
normal sea surface

(b} Little Bitter Lake-

{c) Lake Gatun
fc) ‘Tsunamis grow in height when

(d) Lake Timsah they reach shallower water

_ ‘ (d) Tides also play an important
100. Xerophytes represent the class of role’ in the generation of
vegetation found in Tsunamis

{a) tropical rain forest,

() humid micro-thermal climate 103. Which one among the following

statements regarding India’s coal is.

(c) semi-arid steppes not correct?

(¢} tundra region {a) 98 percent of reserves of coal I

in India belongs to Gondwana

. period

101. What is a cloudburst?

{a) It refers to sudden and copious (b) "Unknown amount of coal lies
rainfall over a small area which buried under the Ganga.
often lasts for ‘only a few alluvium and the-Deccan Trap
minutes

{b) It refers to 50 mm rain over a (c) Bituminous coal is found in
period of time both lower Gondwana rocks

-and in Tertiary rocks
{c/ 1t is. caused by rapid
condensation of very high

ciouds (d) Gondwana coal is mainly
- found in the river valleys of
{d) 1t refers to a thunderstorm o Damodar, Mahanadi and
with little rain Godavari
O-DETA-M-HL/48A 42 - i
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99, it 9id wEe ¥ W AN MM W\WF TW H 102, f=fafgs & @ =F-w ws, gof &
TIY-TTY 3T 91T L, dr STaehl I & Ty B Hd A 37 -
I Fie ot fF=fefge el & @

HH-H T, 38 T8 & THIR TE 20 ' v
(a) GET it siga ot aeed dd R

(a) U2 et ew

(b) T R 3 (b) TR T WA TR F TR e
Wéﬁmm'ﬁnm%

(c) < TgA

(d) ¥ fomn () e food W wH TR W
AT ST § Wed §

100. e T 78 o awh e 3 4 @ e H s 8
o Tyl yfie v &

(a) IwrEfeadty auf 1

(b) TZ GEI-IV ST

) Sy T A 103, ffafaa w==t # @ ®9-1 @, wia 5

FIT & gra-g § G AL 8?
(d) T T
fa) YRG U 98 ufewd HiFe = WUSK
DIECICHET R o
101. & TR =0 &7
(a) TETH B &N e T g (b) FH hl I TRT T TeilgH 3
Tui = fifde Fa &, S wga Haw T O F ARl R
F3 el & fom ot &
(b) a8 TF Fifim vmam@f § 50 mm ¢ Tzt wwen wieam ' fa
aui =1 fifde = § et o gefiaer dredt, 91§ uRn
- ST 3
fc) 98 9gd S SeElt & 7 A &
IO BT &
(d) TSI FEAT TG TG, HEHE
(d) T8 &9 o991 & WY aled-F w IR MeEredt 1 gt § g s
fifde wwar 2 B
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104. Consider the following statements :

1. Coriolis effect is zero at the

Equator.

2. Coriolis effect is more towards
the Poles.

" 3. Coriolis effects are related
to the decreasing rotational
velocity with increasing
latitudes.

4, Coriolis effects are related to
the increasing rotational
velocity with increasing
latitudes.

Which of the statements given

above are correct?

fa} 1, 2.and 3

(b} 1 and 3 only

f) 1,2 and 4

fd) 2 and 4 only

105. The Viceregal Lodge at Shimla is
a well-known ancient monument.
Which of the following statements
about the monument are correct?
1. The Lodge was built by 17th

Viceroy, Earl Dufferin.

2. The present shape of the

building was given by Earl of

Marquis of Lansdowne.

3. It is famous for holding three
meetings before Independence
of India including the Cabinet
Mission.

Select the correct answer using the

code given below :

Code :

fag 1,2 and 3

(b} 2 and 3 only -

f¢/ 1 and 3 only

{d) 1 and 2 only

O-DETA-M-HL/48A

106. Who among the following Chinese

travelers visited the kingdoms of
Harshavardhana and Kumar
Bhaskar Varma ?

{a) I-tsing

(b) Fa-Hien

{c) Hiuen Tsang

{d) Sun Shuyun

107. Which one among the following

Indus cities was known for water
management?

{a) Lothal

(b) Mohenjo-daro

{c) Harappa

{d} Dholavira
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104. fyefafaa St w faam Hifv

1. =Rerfe we fagaq W& ® 1=
BT B

2. FRHTHE wwE g&l Hi & A
T 2

3. wRARm TvE Tge gu s ¥
g

4. FATHM W@ ded §Y A *
H

Iogdeh weEt § @ BE-A vl Y

fa) 1,233

(b) el 1 3R 3

¢ 1,234

(d) et 2 3R 4

105. f¥men *1 aEEi |9 T geEe SR
F 810 RS & @y 7 fforiaa
FFt F | BA-W 7 7
1. I8 @ d9gd aERE, 3 SHRA

BT ST T o
2. 9E7 F FAAH SHR CHEEA *
a7t 1w AREHE g fe T o

3. 9% wHa f w|daar & g hi A=
o, Rrl Sz fem o affam
%, sEihm w0 & o a2

9 A W g w1 W W Ed W

g

G

@@ 1,23R3

(b} Fa@ 2 3 3

fc) Fad 1.3 3

(d) Faa 13 2
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106, Frfefiaa <+ el § @ frad wdada
AR FUR v a9 & T=at f g A
7 ]

(a) ¥

(b) IRIA

(c) T &M

(dj T qIT

107. mm%ﬁmﬁfﬁas@ﬁﬁ#-m
T, S Wel-u o forg ST Sttt en?

(a) UA

(b) HrETE

(c) T

(d) et

[P.T. O:
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108. Consider the following statements :

According to Hindu Law, marriage
is defined as

Select the correct answer using the
code given below :

Code :
1. a contract
2. a sacrament (a) 4-2-3-1
3. mutual understanding
4. indissoluble (b) 1-2-3-4
Which of the statements given c) 2-1-4-3
above is/are correct?
(d) 3-2-1-4
{a} 1 only
(b} 2 only 111. Match List-I with List-1I and select
the correct answer using the code
fcj 1 and 3 given below the Lists :
{d) 2 and 4 List-I List-IT
(Social Reformer) {Association)
109. Which one among the following A. lyothee Thass 1. gaty a§hodhak !
States was first annexed by Lord amay
Dalhousie under the Doctrine of B. Jyotiba Phule 2. Dravida
Lapse? Kazhagam
C. John 3. Self-Respect
{a} Nagpur Rathinam Movement _
. ]
(b) Jhansi D. E. V. Rama- 4, Dravida

swami Naickar Mahajana Sabha

fc) Sambalpur

Code : I
(d) Satara
fa) A B C D
. 4 2 1 3
110. Identify the correct sequence of the
following events of Indian history ) A B C D
(starting with the earliest) : 3 1 2 4
1. The Doctrine of Lapse © A B c D
2. The Subsidiary Alliance 4 1 2 3
3. The Treaty of Lahore d A B c D
4. The Pitt’s India Act 3 2 1 4

O-DETA-M-HL/48A 46
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A

fog FFR % rgEm, R wheniia 3 T
1. THIgEFEF ETH T
2. Th UWHR 587 14 i aoa
3. o e w9 A (@ =25
4, g FwAH (b) 1-2-3-4
! h et B W @ @ 2145
! {a) Fad 1 (d) 3-2-1-4
| (b) FaA 2
L a3 111, T H G- @ galm A Il
CIRE el 3 3 R e g 6 @
| (d) 234 IR g
W‘l H\Eﬁ'-.-ll
109. frafafan o=l 4 ¥ wH-E T, (T GUTR) (eeart)
R -39 Ay & ria @id s .
! R " asa H firen fer e en? A, e 1. WO WA
B. wfoan gt 2. gfag wem
@ C.osmdm 3. dewddw
(b) el D. 3o dte THREE 4. ZfaE TETE |
() W= T
(d) T . Fe
@ A B D
_ 4 2 1 3.
110. wrdtm shrem # frefafas wemsil
T IgEN H TEEIY (FEd WOW A ) A B C D
I HFIRT) : 3 1 2 4
1. TF-398 Hifd © A Bﬁ* c D
2. wEwE G (wafifeadt seww) 4 1. 2 3
3. T & Efy @ A B C D
4. fiem sfem i 2 1 4
!
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112. Which one among the’ following
statements regarding Jorwe.Culture
is not correct?

fa) Pravara-Godavari Valley was
the nuclear’ zone of' Jorwe

Culture
(b} The main sites: of Jorwe
Culture are Daimabad,

Inamgaon, Jorwe and Nevasa

{c} At Daimabad,
archaeological
symbolic burial

one gets
evidence of

i

{d) Practically all Jorwe
settlements in the Northern
Deccan were ©  suddenly

[

" Tdeserted

-

113. Ashokan inscriptions of .Mansehra
and Shahbazgadhi are written in

an

fa} Prakrit language, Kharoshthi
script

(b) Prakrit! language, Brahmi
script

»

fc) Prakrit-Aramaic
Brahmi’ script

language,

fd} Aramaic language, Kharoshthi
script !

O-DETA-M-HL/48A
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114. Who among the following scholars
were contemporary. of Kanishka ?

1. Ashvaghosa
2. Nagarjuna
3. Vasumitra
4. Chanakya

L :
Select the correct answer using the
code given below :

Code

fa} 1 and 2 only
(b) 3"and 4

fcj 2 and 4

{d 1,2 and 3

115. Sabin Award is

conservation of

given ‘for the

(@) ampiﬁi)ians
(b) reptiles.
{c) birds

(d} corals

StudentSuvi

dha.in
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112. fefafas s & @ SH-T 6, @
et ¥ Ty B T 37

(@) WR-TeEd T, S Fepl A
A & ot

(b) VA TEHR O TE W AR,

(c) IEATER T WAIHTCHE THAC, A HI
qarefeeren |t fireran @

(d) =EehE w1 d, sol @ § wf
s sfeEf s e 8 i

113. HFEET 3K IEARTEl % ST & o

forait forg gu €7

() STeHQ 1, @I

(b) WTERQ W, el A

(c) THa-SETEH ¥, Fwef o

(d) STOATEE T, wo) fef

O-DETA-M-HL/48A
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2 R W g W W W W
kS

(@) Faa 132
(b) 334
fc) 234

d 1,233

. £

115, 9 R fFas wam & fae wem

R it &7

{a} 3JHIA

(b) WET
(c) uef

(d) vE

[ PITHO.
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116. The Indian research. station Himadri 119. In the year 2011, a scientist from
is located at USA ‘discovered ‘BISIN’, which

{a) Siachen
a) is a natural preservative and
{b) Darjeeling can extend food’s: life for
several years
{c) Arctic Region

(d} Antarctica {b} can insulate cells of brain

117. The year 2011 was the centenary
year for which one among the {c) claims for fastest prevention of
following policy-making bodies of ‘bacterial infection
the Government of India in scientific
research and development?

(d) is a distant galaxy

(@) ISRO
(b) ICAR
() ICMR 120. In the year 2011, a missile named
‘PRAHAR’, developed by DRDO was
test fired. This is a
(d) CSIR ire is !
;
I 118, In the year 2011, NASA launched a fa}j short-range surface to air
! mission to study the Moon from missile.

‘crust to core’ through its

fa) Gravity: Recovery and Interior (b)

long-range surface to air
Laboratory

missile

(b) Fast Auroral Snapshot Explorer

Spacecraft . .
P {c) short-range surface to surface

missile
{c¢) Ultraviolet Spectroscopic h

Explorer Spacecraft

long-range surface to surface

(d) Transition Region and Coronal (d)
missile

Explorer Spacecraft
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116, R I8y 5 ‘fRemfy’ wef fm 37
fa) T
(b) =i
(c) IS &

(d) s

117, 3 TgEyM iR fowm § Wiy ¥&R
& frafafan & @ B o Hifa-fufa
T & fe = 2011, vt o ar?
(@ ISRO
(b) ICAR

(c) ICMR

{d) CSIR

118. I¥ 2011 # NASA 3 ¥=W &% ‘T2a A
‘wE e % e uw fivm s R
AN/ AT § SR

(@) TEE TN SR STy FrTeme

(b) ZA g YR @S sTaReE
(o) TR T i e

[d) gFam 83 o R @Rt
AR,

O-DETA-M-HL/48A
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119, &9 2011 A Fo THe To & AW I

BISIN’ ! &9 i | 8

(a) TH SHE TieaE ¥R ww w
3T JU| O ($hls S9C W@ Gl
g

(b) wiess N Fifywen w W W
aFdr &

(c) SHATY THAT H TFE A VU HI
e TG

(d) TFH A ATHEERN ¢

120. ™ 2011 ® DRDO 3T f=fm

‘PRAHAR’ 9% TH W&o qlsor &
T Sier Tl 3% = A7

(@) Y- WA ¥ T % fow
JEUTE

(b)ﬁﬁ_qucmw%w%%q
JEITE

c) wg-ufeR s @ sHb & foag
IO

(d) <H-ufr wofm & e & foo
TEYUITH,

[P.T.O.
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W A AUE qE e g WY W 7w W | 9w T g

A, ; O-DETA-M-HL wferor gieaest srgeRn

128305  UYeTOT iRt A

WY : G guR | quris : 100

FIFIM

. T IO R % g 91, A9 36 ghuu gitie i ggara stava @ § fw 3w W fae ow, we

q G FAT YB e Ayw Il 7 @ R v R, @ @ v wlem gy @ wew iR

- IW-TAF T T v W whigm gt oy A, B, C @1 D gwitafy We w9 geag i)
. T wlew gfRer w oy ¥ Ru T R d e e '

g feran &) whiew gfevam W i Fo W ford )

- 7@ vltgw gfeem 120 swiw (yw) Re e # vdw wwim R ol sish d oW ¥ s wwEiw § 9w

R (3W) few e #1 7 ¥ o TR A T A, Rl o9 Iw-mw W sifhd = el 31 3R s
™ 5 TF & il Wyt vt &, @ 3w e W il w S o) weten o | Wole e ¥ fom e
T @ W Y 2

ARl At At wegT otem | Ru T S-we w # difea w0 ) sw-wE ¥ R e Ay R

Wit v % 3w wmE ¥

. T e 6 oy wiaw gfen & fofm il & woget sw-ws W iR s IE W, o wmu

YAW-93 % WY 3 aTgemt % ER TP fyaw swewmw § 3 §)

. Y AW T TR H IR0 F W AR a v F T W R IW-UEw A w99 3

IR YT | e IR @ W A agEiy R

. F FW F T o wlaw g ¥ s i dem i
10.

WE?R"'%%QW:

TegiE ayA-vEt # aieEn g Ry T wew s g ave R smem

(i) e 31 % forg v Awfes Im &) IRficar g e e & R Ry T e s ¥ g e g
fa e o aiwt @1 ww-Red (0-33) T ¥ w9 § wR s

(ii) af2 ¢ Iofigar @ @ afies I A 2, @ @ TEW IE A S, Tl R st § @ o I gl
B B, e ot 30 v % Rre suderer @ S T W osve far s

(iif) 7R} Ifiear TR wR v A frar s @, Srulq IEfigan g I 6 f s B, 6t ow v ¥ R
=ié 7uz et fen o)

mmmﬁuﬁmgﬁm@ﬂﬁﬁqmmaﬁw:@ﬁ

Note : English version of the instructions is printed on the front cover of this Booklet.
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